Office of the Executive Engineer (JSD)P.H.E Division Awantipora

E-Mail ID: phedivisionswantipera@gessit.com

M/S Gousia Road Construction Company

Prop: Farooq Ahmad Rather S/o: Haji Ab Ahad Rather

R/O: Kangan

Reg. No.: 113/AAY/CE/KCC/PDC/1994-95 dated:- 8.7.2006

GST No. 01ADFPR9843Q1ZV PAN No.: ADFPR9843Q

Subject:-Allotment for Construction of service reserviors , sumps, sluice chambers & laying fitting of of pipes for WSS Bathen, Bajnari and Bataldev under JJM

Retrence:- 1. Your tender in response to this office E-NIT No. 33/PHA of 2022-23 (e- tendering) issued under endorsement No.PHA/Awp/3066-76 dated:- 18-08-2022,Tender ID :2022_PHE_184690__1

2.Tech. Sanction No. CE/PHE/DB/500 of 09/2022 dated: 09/09/2022

3. Chief Engineer Kmr, Jal Shakti (PHE) Deptt. Srinagar's No. CE/PHE/MC/DB/13745-83 dated:- 26-7-2022

4. Minutes of meeting , DIJM held on 18/11/2022

For on behalf of lieutenant Governor of Union Territory of Jammu & Kashmir, contract for above mentioned work is hereby fixed with you at the following quoted rates, terms conditions .

Advertised Cost:-Rs 127.48 lacs

Alloted Cost:- Rs 106.45 lacslacs

No.PHE/AWP/ 5555-60 Dated: 29-11-22

(Rupees one crore six lacs and forty five thousand)only

No.	Particulars of items	Unit	Qty	Alloted	Amount	
		OHIL	Qty	Rate	in figures	in Words
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: All kinds of soil [1 meter from cutting edge).	cum	6673.41	364.06	2429521 645	Rupees TwentyFour Lnkh TwentyNine Thousand Five Hundred TwentyOne Puise SixtyFour Only
2	Laying and fitting of G.I. pipes (all classes) complete excluding cost of pipes, fittings and Earth work.—100 mm dia G.I.	mtr	800	89.9	3 700416	Rupees SeventyOne Thousan Name Hundred Foodty Three Purse Soxty Only
-		mtr	250	0 61	DO 170790 9	Rupees One Linkh Sevent Thousand Seven Hundre Ninety Page Ninety Onl

ubje	ct:-Allotment for Construction of service reserviors , su Bathen, Bajnari and Bataldev under JJM			THE RESERVE AND ADDRESS OF THE PARTY OF THE	42697.725	SIX Phillipped Pellippe
	65 mm dia G.I	mtr	700	61.00	42077	Paise SeventyThree Only
5	50 mm dia GI Pipes	mtr	6500	34.07	221442	Rupces Two Lakh TwentyOne Thousand Four Hundred FourtyTwo Only
6	40 mm dia GI Pipes	mtr	5500	34.07	187374	Rupees One Lakh EightySeven Thousand Three Hundred SeventyFour Only
7	25 mm dia GI Pipes	mtr	8500	25.59	217538.375	Rupees Two Lakh Seventeen Thousand Five Hundred ThirtyEight Paise ThirtyEight Only
8	20 mm dia GI Pipes	mtr	8700	16.91	147106.125	Rupees One Lakh FourtySeven Thousand One Hundred Six Paise Thirteen Only
9	15 mm dia GI Pipes	mtr	9800	16.91	165705.75	Rupees One Lakh SixtyFive Thousand Seven Hundred Five Paise SeventyFive Only
10	Providing & fixing of MS Flanges to GI pipe including cutting of threaded portion, welding, cost of nuts, bolts and washers with testing after completion of work including all carriages complete for: 100 mm dia	joint	67	1002.00	67134	Rupees SixtySeven Thousand One Hundred ThirtyFour Only
11	80mm	joint	250	835.00	208750	Rupees Two Lakh Eight Thousand Seven Hundred Fift Only
12	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete 25 to 40 mm nominal bore	each	50	556.32	27815.9375	Rupees TwentySeven Thousand Eight Hundred Fifteen Paise NinetyFour Only
13	50 to 80 mm nominal bore	each	25	1059.41	26485.15625	Rupees TwentySix Thousand Four Hundred EightyFive Paise Sixteen Only
14	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.		5421.85	165.91	899563.5318	Rupees eight lakh ninety nin thousand five hundred sixty three paisa fifty three only

St:-Allotment for Construction of service reserviors , sumps, sluice chambers & laying fitting of of pipes for WSS Bathen, Bajnari and Bataldev under JJM

15	Extra for every additional lift of 1.5 m or part thereof in excavation/banking excavated or stacked material All	cum	168	68.18	11453,862	Rupees Eleven Thousand Four Hundred FiftyThree Paise EightySix Only
16	kinds of soil : Providing and laying of stone soling (dully hand packed) on horizontal level.	cum	80.57	514.69	41468.89558	Rupees FourtyOne Thousand Four Hundred SixtyEight Paise Ninety Only
17	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:4:8 (1 cement : 4 coarse sand : 8 graded stone aggregate 40mm nominal size).	cum	60.79	4059.64	246785.2968	Rupees Two Lakh FourtySix Thousand Seven Hundred EightyFive Paise Thirty Only
18	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level: 1:1%:3 (1 cement : 1% coarse sand : 3 graded stone aggregate 20 mm nominal size)	cum	83.35	6513.63	542911.4439	Rupees Five Lakh FourtyTwo Thousand Nine Hundred Eleven Paise FourtyFour Only
19	Reinforced cement concrete work in walls (any thickness) including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, posts and struts upto floor five level including curing but excluding cost of centering shuttering, finishing and reinforcement.	cum	93.28	7855.80	732788,7348	Rupoes Seven Lakh ThirtyTwo Thousand Seven Hundred EightyEight Paise SeventyThree Only
20	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size)	cum	40.53	5826.96	236166.8506	Rupees Two Lakh ThirtySix Thousand One Hundred SixtySix Paise EightyFive Only
21	Reinforced cement concrete work in beams, suspended floors, roofs having slope upto 15°, landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases upto five level including curing but excluding the cost of centring, shuttering, finishing and reinforcement with 1:1½:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size).	cum	27.28	8224.21	224356.37	Rupees Two Lakh TwentyFou Thousand Three Hundred FiftySix Paise ThirtySeven Only
22	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level: Thermo-Mechanically Treated bars of grade Fe-500D or more.	kg	21392	72.80	1557237.	Rupces Fifteen Lakh FiftySeven Thousand Tw Hundred ThirtySeven Pair Six Only

6/4

Subj	ect:-Allotment for Construction of service reserviors , s Bathen, Bajnari and Bataldev under JJM					Rupees Twenty, 19
23	Centering, shuttering including strutting, propping	sqm	117.62	219.02	25761.19121	Seven Hundred Sixty Out Nineteen Ords
	Foundation, footings, bases of columns etc. for mass concrete. Walls (any thickness) including attached pilasters,	sqm	1178.22	479.16	564561.4917	Rupees Five Lakh SoxyFee Thousand Five Handred SixtyOne Paise FoortyNise Only
24	buttresses, plinth and string courses etc. Lintel, beams, plinth beams, girders, bressumers	sqm	76.99	419.88	32326.54195	Rupees ThirtyTwo Thousand Three Hundred TwentySix Paise FiftyFour Only
25	and cantilevers.					Rupees One Lakh Six
26	Arches, domes, vaults upto 6 m span	sqm	61.02	1742.48	106326.0076	Thousand Three Hundred TwentySix Paise One Only
27	Suspended floors, roofs, landings, balconies, and access platform.	sqm	160.47	530.73	85165.60122	Rupees EightyFive Thousand One Hundred SixtyFive Paise Sixty Only
28	Edges of slabs and breaks in floors and walls. Under 20cms wide	Mtr	64.4	202.32	13029.4402	Rupees Thirteen Thousand TwentyNine Paise FourtyFour Only
29	Extra for shuttering in circular work (20% of respective centering and Shuttering items) walls	sqm	829.06	95.83	79451.26553	Rupees SeventyNine Thousand Four Hundred FiftyOne Paise TwentySeven Only
30	foundation	sqm	83.74	43.80	3668.155334	Rupees Three Thousand Six Hundred SixtyEight Paise Sixteen Only
31	Beam	sqm	76.99	83.98	6465,308391	Rupees Six Thousand Four Hundred SixtyFive Paise ThirtyOne Only
32	slab	sqm	132.47	348.50	46165.21213	Rupees FourtySix Thousand One Hundred SixtyFive Pais TwentyOne Only
3	Extra for brick work with common burnt clay bricks/cement concrete bricks in superstructure above plinth level upto floor five level12mm Cement plaster finished with a floating coat of neat cement of mix: 1:3 (1 cement: 3 fine sand)	sqm	555.28	287.03	159382.7125	Rupees One Lakh FiftyNine Thousand Three Hundred EightyTwo Paise SeventyOn Only
	Providing and mixing water proofing material in cement concrete work in doses by weight of cement as per manufacturer's specification. (1 kg of water proofing material in 50 kg of	Kgs	2325	48.35	112405.6125	Rupees One Lakh Twelv Thousand Four Hundred F Paise SixtyOne Only

ect:-Allotment for Construction of service reserviors , sumps, sluice chambers & laying fitting of of pipes for WSS

Bathen, Bajnari and Bataldev under JJM

	Bathen, Bajnari and Bataldev under JJM					Rupoes Eight Hundred ThirtyThree Paise TwentyOne
19	65mm Gl	M	3.997	208.46	833.2056268	Only
	50mmGl	М	26.52	208.46	5528.29953	Rupees Five Thousand Five Hundred TwentyEight Paise Thirty Only
51	40mmGI	М	17.765	208.46	3703.251929	Rupees Three Thousand Seven Hundred Three Paise TwentyFive Only
52	25mmGl	M	16.83	208.46	3508.343933	Rupees Three Thousand Five Hundred Eight Paise ThirtyFour Only
		M	12.006	208.46	2502.743747	Rupees Two Thousand Five Hundred Two Paise Seventy Four Only
53	20mm GI	M	9.2806	208.46	1934,612995	Rupees One Thousand Nine Hundred ThirtyFour Paise SixtyOne Only
54	15mmGl	Ton	17.662	505.98	8936.558709	Rupees Eight Thousand Nine Hundred ThirtySix Paise FiftySix Only
55	Carriage by Manual Transport—Steel @500 m	Ton	119.85	297.01	35596.58858	Rupees ThirtyFive Thousand Five Hundred NinetySix Pair FiftyNine Only
56	cement	cum	164.89	518.71	85530.14961	Rupees EightyFive Thousan Five Hundred Thirty Paise Fifteen Only
57	Sand & agg @ 500 m Aggregates20mm @ 500	cum	63.04	518.71	32699.50046	Rupees ThirtyTwo Thousan Six Hundred NinetyNine Pal Fifty Only
58		cum	45.85	560.74	25710.12386	Rupees TwentyFive Thousa Seven Hundred Ten Paise Twelve Only
59	Aggregates 40mm @ 500	cum	67.97	610.22	41476.51746	Rupees FourtyOne Thousa Four Hundred SeventySis Paise FiftyTwo Only
60		МТ	7.8	221.88	1730.63436	Rupees One Thousand Ser Hundred Thirty Paise SixtyThree Only
61		MT	18.816	221.88	4174.82257	Rupees Four Thousand C Hundred SeventyFour Pa EightyTwo Only
67	80mm GI	MT	3.997	221.88	886.839171	Rupees Eight Hundre

	Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position		2052 75	85.29	261212.453	Rupees Two Lakes S. Thousand Two Isander
35	and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works.	kg	3062.75	83.23		- inode
36	12mm Cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement: 4 fine sand)	sqm	389.55	271.75	105860.5047	Rupees One Lakh Five Thousand Eight Hundred Stery Paise Fifty Only
37	12mm Cement plaster of mix: 1:4 (1 cement: 4 fine sand)	sqm	190.4	217.14	41343.7892	Rupces FourtyOne Thousand Three Hundred FourtyThree Paise SeventyNine Only
38	Carriage by Mechanical TransportSteel & cement @ 25 Km	Ton	137.31	335.50	46067.91693	Rupees FourtySix Thousand SixtySeven Paise NinetyTwo Only
39	Sand @ 25 Km	cum	125.48	377.39	47355.51833	Rupees FourtySeven Thousand Three Hundred FiftyFive Paise FiftyTwo Only
40	Aggregates20mm @ 25Km	cum	180.82	377.39	68240.55486	Rupees SixtyEight Thousand Two Hundred Fourty Paise FiftyFive Only
41	Aggregates 40mm @ 25 Km	cum	45.85	410.23	18808.91483	Rupees Eighteen Thousand Eight Hundred Eight Paise NinetyOne Only
42	Stone soiling @ 10 Km	cum	81.03	275.93	22358.26352	Rupees TwentyTwo Thousand Three Hundred FiftyEight Paise TwentySix Only

32.48

26.76

39.22

8.82

7.8

18.816

Ton

cum

cum

cum

M

M

372.38

418.88

418.88

455.31

208.46

208.46

12094.79197

11209.16859

16428.38536

4015.823616

1625.97045

3922.341024

ThirtyFour Only

Xen

Xen

Rupees Twelve Thousand

NinetyFour Paise SeventyNine Only Rupees Eleven Thousand Two

Hundred Nine Paise Seventeen Only Rupees Sixteen Thousand Four

Hundred TwentyEight Paise ThirtyNine Only

Rupees Four Thousand Fifteen

Paise EightyTwo Only Rupees One Thousand Six Hundred TwentyFive Paise

NinetySeven Only Rupees Three Thousand Nine

Hundred TwentyTwo Paise

Steel and cement @ 30 Km

Aggregates20mm @ 30 Km

Aggregates 40mm @ 30 Km

Sand @ 30 Km

100mm GI

80mm GI

47

48

ct:-Allotment for Construction of service reserviors , sumps, sluice chambers & laying fitting of of pipes for WSS Bathen, Bajnari and Bataldev under JJM

20/64	50mmGI	МТ	26.52	221.88	5884,156824	Rupees Five Thousand Eight Hundred EightyFour Paise Sixteen Only	
65	40mm GI	МТ	17.765	221.88	3941.630693	Rupees Three Thousand Nine Hundred FourtyOne Paise SixtyThree Only	
66	25mmGl	МТ	16.83	221.88	3734.176446	Rupees Three Thousand Seven Hundred ThirtyFour Paise Eighteen Only	
67	20mm GI	MT	12.006	221.88	2663,845657	Rupees Two Thousand Six Hundred SixtyThree Prine EightyFive Only	
68	15mmGl	MT	9.2806	221.88	2059.144262	Rupees Two Thousand FiftyNine Paise Fourteen Only	
		Fotal:-			R	s 106.45 lacs	

Rates and quantity checked by

Head Draftsman

Terms Conditions:-

- 1 The cost of work in no case exceed beyond Rs 106.45 lacs (Rupees one crore six lacs and forty five thousand) only
- 2 Bid security @ 2% (exempted under UDYAM MSME holder under Registration No.UDYAM-JK-06-0000269) :
- 3 Time of completion is essence of the contract.

The work shall have to be started by you at site immediately and ensure its successful completion within a period of <u>05 months</u> from the date of issuance of allotment from this office strictly in accordance with the approved proposals falling which the work shall have to be got executed through any other means at your

- risk and cost, besides CDR deposited by you as security against this contract shall be forfeited. However date of start for laying and fitting of pipes will start within 07 days from the date of issuance of pipe material by the deptt.
- An agreement shall have to be drawn up by you with the department within a period of 07 days from the date of issuance of allotment failure to execute such a formal deed shall not however prevent the contract from being enforced upon you.
- The allotted works shall be subject to check by the third party monitoring agency appointed by the department.
- 7 Payment shall be released as per actual / measured work done not less than 20% of the allotted cost on a monthly basis
- 8 Performance security equivalent to 3% of the value of the contract shall have to be deposited by you in shape of CDR/FDR/bank Guarantee within one week of issuance of allotment order and valid for a period of 3 months beyond the expiry of warranty period of the contract.